DR. Amrit Krishna MBBS, MD. Satyam Super Speciality Hospital Your Trust. Our Service

Weight :

OPD Prescription

UHID No.	: 2251			OPD No.	:94
Patient Name	: Ms. BABY	PARI		Date	: 30/Jul/2022
Address	: Rasulpur, N	Auzaffarpur		Age / Sex	:35 Days / Female
Serial No.	:1			Valid Upto	:30/Jul/2022
B.P.	:	Pulse	:	Temp:	

Clo: - winning that forther chust Stalling CBSR. LFT, KFT drint in Nice inj- Emin 135my- IV x BD inj - Trung 1/gml - IVX BD inj - Inderg Dy - IMX Sos tob- Carift 1/2 or I with rot XDD Pay- Adoz - 5 Pays x Beting

Attn : Mission Heal

Fund Support Requisition for Economically Weaker Section

Reference No.

UHID :- 2251

OPD NO. 94

DATE:- 30/07/2022

PROFORMA INVOICE/FUND REQUISITION REPORT Satyam Super Speciality Hospital (A unit of Satyam medical care Pvt. Ltd.) Opp. Satyam Paramedical College And Research

Maripur, Muzaffarpur,- 842001, Bihar

Patient Name:	Baby Pari	
Sex:	Female	
Father's Name:	Prakash Mahto	
Address:	Rasulpur, Muzaffarpur	
Diagnosis:	Urinary tract infection, chest infection with low	
	platelets.	
Date of Admission:	30/July /2022	

Overall Analysis : - Baby Pari, age 35 days was admitted to hospital in the morning of 30th July by her parents, This kid has highly infected chest condition, possibility off unwanted fluid in the chest, severe congesation, low platelet and urinary infection. The kid is highly critical right now with oxygen levels fluectuating frequently, doctors have put baby Pari in NICU and will monitor the performance 24*7 for next few days. We expect to cure her from the illness and want financial support for her treatment. Approx length of stay in the hospital will be 20 days and an estimated cost will be Rs.1,40,000/-Please provide financial help for her treatment as her father is an agricultural labourer and mother is a house wife. They can't take care of her treatment cost.

Estimated Fund required during Hospital Stay and Overall Treatment.

S.No.	Element	Unit	Rate (INR)	Price (INR)
1	NICU	12	3000.00	36000.00
2	Nursing	20	500.00	10000.00
3	Visit	20	1000.00	20000.00
4	Warmer	13	500.00	6500.00
5	Medicine	20	210.00	4200.00
6	RBS	20	100.00	2000.00
7	Oxygen	312	100.00	31200.00
8	Surgical Processure	1	30000.00	30000.00
		1080/05 E0 E001 E		139900.00



र्भवा में; मिसन हिल

मेंघराय नम निर्वतन हे कि मेरी पुत्री जिसक, उम्न 35 दिन हें 10 जन्म के उपरांत ठांभीट जीमारी रेने जुद्ध रही हूं 1 डॉक्टर से परामर्श स्व अगिन रेने जुद्ध रही हूं 1 डॉक्टर से परामर्श स्व उचिन रत्नाज हेंदु डॉक्टर ने 1,39,900/- रूप्या का रंग्लाम करने के किए कोन्ने हे, आरे लगभग २0 दिन समय लग सकता हे'

अल्पंत जरीबी एवं वेरोजगारी से अहमने हुए इतना श्कम मेरे निए श्वर्च मार पाना अहमने हुए इतना श्कम मेरे निए श्वर्च मार आसमंघता का प्रतीक हैं। में कृषि विभाग में रोजभना पर काम करता हूं, अौर मेरी पत्नी ह्या का काम करती है। उनत: महाराय से बम विवेदन है कि मेरी आधिक स्व देनिक रियति को देख्ले हुए मेरी मदद करने की कृपा करें।



